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K_,f A number consists of two digits, If the number formed by interchanging the digits
1 is added to the original number, the resulting number (ie. ¢ the sum) must be
divisible by —
¥ SiehT hl €A &, TS 3T T ATIH TR ,SITHT TS TS H&AT el H&AT H
Sirg €t ATt &, A uior Tt @t =t wa ) @ s g iR -
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D.3
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when n? is divided by 5?
I n T 5 9 v foraT SIme at vuwer 2 feaT S 2 s |
e s T Iwwe g 2

1)2
2) 3
3) 1




How many 3 digit numbers, in all are divisible by 6?

forae 3 stent Y deET, i |t 6 & e §2

(1) 140
(3) 160

(4) 170




4

Mission Selection - SSC 2024

7 84 Math's books, 90 physics books and 120 Chemistry books have

to be stacked topic wise. How many books will be there in each

stack so that each stack will have the same height too?

84 Wew T ToraTa, 90 ThiSTerer Y Tt 3R 120 FHFUEt hr o o

<ifUes ATSH AT FRTT T Tk | {ha-T fararal git aties T

T i Herg Wt qHE E? (1) 12
(2) 18

4) 21




+1+1+1+1+1 =?
30 42 56 72 90 110







The bowling average of cricketer was 12.4. He improves his bowling average by =
0.2 points when he takes S wickets for 26 runs in his last match. The number of

wickets taken by him before the last match was-

Tomahet T TiaTSlt ST 12.4 9T T 37U TGaT(T StEd 7 0.2 3T T TR AT
% 9T qE g STt By 3 26 T T 5 Fdhe wrar 31 ot e & wEer Sk T
for Ty Fret i wreT oft-

(1) 125
(2) 150

(4) 200
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Alcohol and water in two vessels A and B are in the ratioS: 3 and S : 4 =)

respectively. In what ratio, the liquids in both the vessels be mixed to

obtain a new mixture in vessel C in the ratio 7 : 5?
A SETAT A 3R B H YRTE IR Tt sHwwT: 5: 3 3R 5: 4 % o1qama § 8 e
FTUTA |, T A T Uared e ST anfes 7¢ Sara 7: 5% FAuma o

T ?
(2)3:2
3)3:5
@2:5
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(=) Mis Q)
-/ n an alloy there is 12% of copper. To get 69 kg of copper, how much k]
alloy will be required?
T Threr armg o At 6T 12% BHar 81 69 et atar wmw % & forg,
feramT frer e i strarvareRaT wit?
(1) 424 kg )
(2) 575 ke
(3) 828 kg

(4) 1736 (2/3) kg




7 men and 6 women together can complete a piece of work in 8 days and work done by a woman

in one day is half the work done by a man in one day. If 8 men and 4 women started working and

after 3 days 4 men left the work and 4 new women joined then, in how many more days will the

work be completed

7 I69 AR 6 wierTd frerent o & ot 8 it § [ e Ak B s ww uide g uw R o
fora T T U OET R U o W feR Tg s w6t ottt #1 Afe 8 Uew o 4 wierd
HATIE Ht AR 3 37 718 4 7ow w1 B1g § ofR 4 78 wigend wnider € nd, ot s fran R
H W BN (a) 7 days

WX EVE
(c) 5.25 days

(d) 6.25 days




ahul invested equal sum at the same rate of interest on simple interest for T and T+4 years ==
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and the respective ratio of interest gets by him is 3:5 . If Rajat invested Rs X for T years and

rate of interest is 2T and interest obtained from it is Rs648 , then find the value of X.

A A T AR T+4 TNI o ToTT ATLRUT ST W THT ST T A TAT [T 6T FAasT forar o saes
FIT UTH ST ST S Ted SIUTT 3:5 B ITS a7 T 9N & 777 X FX 1 FHaT fohar AR sarst 6y
2T ¥ A 3O UTH ST 648 TAA E, AT X T AT JTd

900
1800
980
1200

R D=
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KL” / 1A house and a shop were sold for Rs. 1 lakhe each. In this transaction, the &=

iy

house sale resulted into 20% loss whereas the shop sale into 20% profit.

The entire transaction resulted in :

Teh ) 3TR Ueh JoRT hl Tedieh 1 TG W oIl T | 36 e |, a3 st forshr
T 20% <h1 BT g3, AeTfeh FeRT T forsht W 20% 119 garm @YUl T &
TR ®U:

1) Gain of Rs. 1/24 lakh

(2) Loss of Rs. 1/12 lakh

(3) No gain No loss
(4) Loss of Rs. 1/18 lakh




o ]
=y, 4 i (L)
— 2 sum DeComes I\S. aler two years an S. alier iour years a —

compound interest. The sum is-
T TN SV ATA & A5 4500 AR Tehdlfg s W AR ATA & A8 T 6750
T TAT A HereH T g2

(1) Rs. 4000
(2) Rs. 2500
3) Rs. 3000
(4) Rs. 3050




AN

KE::’) 3 Aalonecandoa piece of work in 6 days and B alone in 8 days. A
and B undertook to do it for Rs. 3200. With the help of C they
completed the work in 3 days. How much is to be paid to C?

Teh 3ThelT 6 feT o 1o oY Tehat § 3T 8 fA1 o B Stahetnl ASTRB A
T TU 3200. F¥ o1 w1 6 fobat, C Fragg A IR 3 e A
T IR FeAaml C T FoRaeT e e 82

(1) Rs. 375
(2) Rs. 400
3) Rs. 600
(4) Rs. 800
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(=) 4 Two guns are fired from the same place at an interval of 6 minutes. A person
approaching the place observes that S minutes 52 seconds have elapsed between
the hearing of the sound of the two guns. If the velocity of the sound is 330 m/se,

the man was approaching that place at what speed (in km/hr) ?

2 ek 6 FIZ & A WU F e A Irft At §, 30 T R 1 o1t safew
T HET § o6 AT SRt i ATaTS G & ot 5 Tt 52 Sk dfta g 1 3l
A T AT 330 3 & Y T S Teh 30 T OX foer arfer & 31w ¥@w om?

(1) 24

3) 30
@) 36




@] § Given 1-+ 23+ ..10! = 3025 then 2! + 4! + 6! +.. !

. +20° is equal to-

(1) 6050
2) 9075
(3) 12100




A is twice efficient as B and together they can do a work in as much as C and D together

take to do that work .If C and D alone can complete the work in 20 and 30 days

respectively, then in how many days A alone can complete the same work alone.

A, B ¥ AT HITE ¢ SR frctent e & &t C 3R D g1 fireTent 3@ el st it o fotg
T A 3 SR T Tehel 61 ATS C 3R D STReT 3 hTal il SHA: 20 3 30 &1 & qr o
T &, AT A Tehet foha Tt & ohrel 0T oY TrehaT §? 3T ST ST 3Tehel X1 SRY Hhd §

1. 12
2. 18
3. 24
4. 30







a’+ab+b?
a?—ab+b?

then the value of

)3
) 3/5

4) %




P18 1fa+b+c=0, then the value of

a+b . b+c |, c+a a b, _¢
R (e
- . b b+c c+a a+b

1838
Q) -3

40




Iftan 15° =2 -\/ 3 , the value of tan 15° cot 759 + tan 759 x
cot 15°







sina—cosa

Iftan O = . then sin@ + cosa is
sina+cosa

(1) v2Z tan©O

1 ®
R) - sin0

1
4) - cosO
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)7 Each interior angle of a regular polygon is three times its exterior

angle, then the number of sides of the regular polygon is :

T fRafua agus 1 T srtaftes ST g6es JTel ®ivr € i

T R, foRe Frafere sy o uet < e @
19
2) 8
(3) 10

4)7




The perimeters of two similar triangle ABC and PQR are 36 cm and

24cm respectively. If PQ = 10 cm, then AB is
3 gaT ISt ABC 3R PQR i wifer shwsm: 36 At oY 24 Tt #1

IR PQ =100, aY AB®

(2)12 cm
(3)14 cm
(4) 26cm




The length of the common chord of two intersecting circles is 24cm .If the
diameter of the circles are 30 cm and 26 cm, then the distance between the centre

(in cm) is —

31 TSI, geTeht <hY AT SfiaT Y iad 24 Tft 31 f wedher &1 =@ 30 aft

3itt 26 it 3, A S (Aeft ) T e Br g e -

1) 13 Q) 14 3) 15 416







